Simplificar Expresiones (H)

Simplifique cada expresion.

cac+1—c*>+3ac+9a 6. 104+2z—1+1—y°

. —az+10z+14+7az+a 7. 2xz7— 8472+ 1—10xz
224 4x—c+8—6 8. 1+x>+4x—5+4y
5247 —8—x+x 9. 10yz+7y — 9+ 8y + 622
. —du+u? —4c*> —10c* + 8cu 10. 84+3z22+ 612 —1+10v
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Simplificar Expresiones (H) Respuestas

Simplifique cada expresion.

cac+1—c*>+3ac+9a 6. 104+2z—1+1—y°

=dac—c*+9a+1

. —az+10z+1+7az+a
=6az+10z+a+1

2% 44x—c+8—6
=22 +dx—c+2

C—du+u? —4c* —10c¢* + 8cu

— u? — 14¢* + 8cu — 4u

=—y*+2z+10

C2xz—8+72+1—10xz

= —8xz+7*—7

X2 H4x—5+4y

=x’+4x+4y—4

. 10yz+7y — 9+ 8y + 622

= 10yz + 62>+ 15y —9

8437246v2—1+4+10v

=324+ 6V +10v+7
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